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Analyzing Peter Pan Anchor Chart

(Example, for Teacher Reference)
RL.3.1, RL.3.2, RL.3.5

	Chapter
	What happens?

(Brief summary—no more than three sentences)
	How does the chapter build on the previous chapter?

(What happened in the previous chapters? How does this chapter build on what has happened so far?)

	15: Hook or Me This Time!
	Peter Pan tricks the pirates and Hook by pretending to be a crow and is able to unlock the boys’ chains and cut through Wendy’s bonds. When the pirates try to push Wendy overboard, Peter reveals himself and fights Hook. He ends up pushing Hook overboard to the crocodile.
	The dislike Peter Pan and Hook have for each other is mentioned many times throughout the book, and in this chapter it comes to a culminating event as they fight.


Peter Pan in Kensington Gardens: Chapter 4
“Lock-Out Time”

The fairies are beautiful dancers and have balls in fairy rings, made by the fairies dancing round and round. There is a way to find out when the fairy balls are going to happen. The fairies change the closing time of Kensington Gardens on the signs. For example, they change it from seven to six-thirty. This means they can begin their ball half an hour earlier. Peter Pan is the fairies’ orchestra. He sits in the middle of the ring and plays his pipe.

On the princess’s birthday, the fairy Queen told him that for playing so beautifully she would give him a wish.

“If I chose to go back to mother,” he asked at last, “could you give me that wish?”

The fairies didn’t want him to leave because then he wouldn’t be able to play for them anymore, so the Queen said, “Pooh! Ask for a much bigger wish than that.”

Then Peter thought and said, “Well, then, I think I shall have two little wishes instead of one big one.”

Of course the fairies had to agree. He said that his first wish was to go to his mother, and he would keep his second wish for later.

“I can give you the power to fly to her house,” the Queen said, “but I can’t open the door for you.”

“The window I flew out at will be open,” Peter said confidently. “Mother always keeps it open in the hope that I may fly back.”

And so they granted his wish. They all tickled him on the shoulder and soon he flew away out of Kensington Gardens.

The window was wide open, just as he knew it would be. In he fluttered and there was his mother lying asleep. She looked sad, and he knew why she looked sad. One of her arms moved as if it wanted to go around something, and he knew what it wanted to go around. He knew if he said “Mother” ever so softly, she would wake up. She would give such a happy cry and squeeze him tight.

Peter looked longingly at his mother, and then at the window. Would he enjoy wearing clothes again? He got off the bed and opened some drawers to have a look at his old clothes. They were still there, but he couldn’t remember how to put them on. Did you wear socks on your hands or feet? His mother woke up and he heard her say, “Peter.” If she said it again he knew he would cry, “Mother” and run to her. But she went back to sleep, with tears on her face. He played her a beautiful lullaby on his pipe and he never stopped playing until she looked happy. In the end Peter decided that he wanted his second fairy wish before he returned home. “I promise to come back,” he said as he flew away.

Many months passed before he asked the fairies for his second wish. He didn’t hurry because he didn’t think his mother would ever get tired of waiting for him. At last he said to the fairies, “I wish now to go back to mother forever and always,” and they tickled his shoulders and let him go. He flew straight to the window, but the window was closed and there were iron bars on it. Peering inside he saw his mother sleeping peacefully with her arm around another little boy. Peter called, “Mother! Mother!” but she didn’t hear him.

He had to fly back to the Gardens, sobbing, and he never saw her again.
Adapted from Barrie, J.M. Peter Pan in Kensington Gardens. n.p, 2008. Project Gutenberg.  [http://www.gutenberg.org/files/1332/1332-h/1332-h.htm]
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Glossary:

	Word
	Definition

	Granted
	gave what was wanted

	Fluttered
	flew with quick, light wing movements

	Peering
	looking hard or closely to see something better

	Sobbing
	crying with a lot of emotion.


Language Dive Guide: Peter Pan in 
Kensington Gardens, Chapter 4
	Notes
	Refer to the Language Dive in Module 3, Unit 1, Lesson 7, for detailed notes on how the Language Dive format has been modified starting in Module 3.

	Sentence
	He flew straight to the window, but the window was closed and there were iron bars on it. (from Chapter 4 of Peter Pan in Kensington Gardens, adapted by EL Education)

	Rationale
	This sentence is compelling because it demonstrates accurate object pronoun-antecedent agreement using the singular pronoun it with the singular antecedent window. It connects to the big idea of how literary classics are told in different ways over time, conveying that Peter returned home to a closed, barred window, whereas in Peter Pan, Peter returned home to a window that was closed but not barred. These features thus help address the Daily Learning Target and RL3.9, L.3.1f. Invite students to discuss each chunk briefly but encourage extended conversation and practice with the focus structure there were iron bars on it. After discussing this structure, students use it to talk about familiar objects. Students will apply their understanding of the meaning and structure of this sentence when writing their book reviews later in this unit and their narratives in Unit 3.

	Time
	15 minutes

	Throughout the Language Dive
	Follow the same routines found in Module 3, Unit 1, Lesson 7.

	Deconstruct
	Refer to the chunk chart for language goals; display the sentence strip chunks; display and distribute the task card. Follow the same routine found in Module 3, Unit 1, Lesson 7, to assist students in deconstructing, reconstructing, and practicing the chosen sentence.

	Practice (Focus Structure)
	

	Reconstruct
	

	Practice (Sentence)
	


	He flew straight to the window,

	Deconstruct:
Language Goals
	· He: “Who is this sentence about? Who does He refer to?” Peter. The paragraph that precedes this sentence describes Peter as the subject, and He refers back to Peter. (subject pronoun)

· flew: “What did Peter do?” traveled through the air. Peter was able to fly after the fairy Queen granted him this wish. (irregular past tense verb)

· He agrees with flew. (subject-verb agreement)

· straight: “How did Peter fly?” in a direct manner, or without any delay. The author uses straight to emphasize that Peter was concentrating on arriving to the place he flew. (adverb)

· to the window: “Where did Peter fly straight to?” to the window of the house where his mother lives. (adverbial/prepositional phrase)

· Students can act out flying straight to a closed classroom window or door. ✎

	but the window was closed

	Deconstruct:
Language Goals
	· the window was closed: “But what happened?” Someone had shut the window. Peter thought the window would be open, as when he previously visited his mother. (subject 1 predicate)

· window agrees with was. (subject verb agreement)

· but: “Why did the author write but at the beginning of this chunk?” to connect the previous chunk to the rest of the sentence and to signal contrast between the chunks. Peter wanted to go in window; the window was closed. (conjunction)

· Students can act out flying straight to a closed classroom window or door and conveying the look on Peter’s face to discover the window closed.

· Students can imagine the closed window Peter discovered and sketch what they imagined. ✎


	and there were iron bars on it.

	Deconstruct:
Language Goals
	· there were iron bars: “And what did the window have?” bars made of steel protecting it. We use there to say that something exists or is present and to refer to the subject iron bars. In this case, the actual subject comes after the verb. (existential subject there 1 irregular past tense verb to be 1 subject noun phrase 5 expletive 1 predicate 1 subject)

· iron bars agrees with were. (subject-verb agreement)

· on it: “Where were the iron bars? What, in this chunk, makes you think so?” on the window. It makes sense that the bars were on the window. (preposition 1 object pronoun 5 prepositional phrase)

	Deconstruct: Language Goals
	· “Underline it in purple and draw an arrow from it to window.” Use purple marker to underline it in purple as the pronoun and draw an arrow to window as the antecedent. ✎
· “Can you figure out why the author wrote it to refer back to window?” it is a singular, third person object pronoun, and window is the singular noun the object pronoun refers back to, also called the antecedent. it and window agree because the antecedent window is singular and is a thing and the object pronoun it is also singular and refers to a thing. (pronoun-antecedent agreement)

· Consider displaying an object pronoun-antecedent agreement table, reminding students that these rules only apply to objects, not subjects. Invite students to help you complete it. Begin by entering window and it:


	Deconstruct: Language Goals
(con’t)
	person
object pronoun
1st, singular person
me
2nd, singular person
you
3rd, singular person or thing (window)
him/her/it
1st, plural person
us
2nd, plural person
you
3rd, plural person or thing (windows)
them
· “What if we replace window with windows?” It would break our rules. We don’t say, “The windows were closed, and there were iron bars on it.” We would have to change the sentence to “The windows were closed, and there were iron bars on them.” We would have to make the pronoun plural so that it agrees with the plural noun. This change is not right for this sentence, as Peter flew to only one window.

· “What if we replace it with the window?” It’s correct, but the author uses the pronoun it instead of the window. We can use pronouns in place of nouns or to refer back to nouns to make sentences shorter, easier to read, and more interesting.

· “Can we say ‘but it was closed and there were iron bars on it’?” Yes, the original and the change are correct, but perhaps the author wanted to emphasize the window.

· and: “Why did the author write and here?” to connect the previous chunks to this clause and to signal there is related information coming. Peter wanted to go in window; the window was closed; there were bars on the window. (conjunction)

· Students can imagine the window with iron bars and add the iron bars to their sketch. ✎


	Practice (Focus Structure)
	· Students can use the correct object pronoun to complete the sentence frames. ✎
The cake was round, and there were candles on _____.

The trees were tall, and there were leaves on _____ .

· To provide lighter support: “Can you change the antecedent in each sentence to singular or plural and make the object pronoun agree? How?”

· To provide heavier support: Provide a list of object pronouns for students to choose from when completing the sentences.

	He flew straight to the window, but the window was closed and there were iron bars on it.

	Reconstruct
	· “How can you say this sentence in your own words?” Peter made a beeline for his mother’s window, but found it closed and barred.

· “How does this Language Dive add to your understanding of the big idea?” In Peter Pan in Kensington Gardens, Peter wants to return to his mother forever, but when he arrived at her window, there were bars on it. When Peter tried to return to his mother in Peter Pan, the window was closed but there were no bars on it. The sentence helps us understand that literary classics can be told in different ways and can be compared to each other.

	Practice (Sentence)
	· Students can use the correct object pronoun to complete the sentence frames. ✎
I ran straight to the gate, but _____ was shut and there was a lock on _____.

We swam in the pools, but _____ were freezing so we got out of _____.

· Students can discuss why they selected specific pronouns or repeated the antecedent in the frames. ✎
· To provide lighter support: “Can you say or write another sentence that has correct pronoun-antecedent agreement?”

· To provide heavier support: Provide a word bank for students to choose from when completing the sentences.

· Language Chunk Wall suggestions:

· Nouns and noun phrases (people, places, things, ideas): but the window was closed / and there were iron bars on it.
· Verbs and verb phrases (actions, states of being): He flew straight to the window / but the window was closed / and there were iron bars on it.

· Language to make references: and there were iron bars on it.


Language Dive Sentence Strip Chunks:
Peter Pan in Kensington Gardens, Chapter 4
	He flew straight to the window

	but the window was closed

	and there were iron bars on it.


Language Dive Note-catcher I: Peter Pan in Kensington Gardens, Chapter 4

Name: ____________________________________ Date: ___________________
	He flew straight to the window, but the window was closed and there were iron bars on it.
Sketch what Peter discovered.
The cake was round, and there were candles on _________________________.

The trees were tall, and there were leaves on ____________________________.

I ran straight to the gate, but __________________________ was shut and there

was a lock on ____________________________________________________.

We swam in the pools, but ______________________________ were freezing so

we got out of ____________________________________________________.


Analyzing Peter Pan in Kensington Gardens
Anchor Chart

(Example, for Teacher Reference)
RL.3.1, RL.3.2, RL.3.5

	Chapter
	What happens?

(Brief summary—no more than three sentences)
	How does the chapter build on the previous chapter?

(What happened in the previous chapters? How does this chapter build on what has happened so far?)

	1: The Grand Tour of the Gardens
	We are introduced to some of the different places in Kensington Gardens and the people who have done noteworthy things in those places.
	This is the first chapter. It introduces the places in the story.

	4: Lock-Out Time
	For playing music at their balls, the fairy Queen grants Peter Pan a wish. He wishes to return to his mother, but when he goes back he isn’t sure that he wants to stay, so he returns to Kensington Gardens thinking he will return home later. When he returns home again, the window is locked and Peter goes back to Kensington Gardens sobbing.
	In the previous chapters, Peter had wanted to return to his mother but had become stuck on the island when he doubted he could fly. In this chapter, he gets his chance to return.


Comparing Chapter 4 of Peter Pan in
Kensington Gardens with Peter Pan

(Answers, for Teacher Reference)
RI.3.1, RL.3.9


Directions: Think about the two stories so far. What is similar? What is different? Record similarities and differences on the chart below. Remember to use evidence from the texts.

	Similarities
	Differences

	· In Peter Pan, Peter describes how when he returned home to his mother, the window was locked, just like the plot of this chapter of Peter Pan in Kensington Gardens.
	· The plot of Peter Pan in Kensington Gardens continues to be very different from Peter Pan because Peter still isn’t in Neverland, the adventures he has in Kensington Gardens are not nearly as fantastical as the ones in Neverland, and there are still no lost boys and no Wendy.


Comparing Chapter 4 of Peter Pan in
Kensington Gardens with Peter Pan

RI.3.1, RL.3.9


Name: ____________________________________ Date: ___________________
Directions: Think about the two stories so far. What is similar? What is different? Record similarities and differences on the chart below. Remember to use evidence from the texts.


	Similarities
	Differences

	
	


Homework: Language Dive I:
Peter Pan in Kensington Gardens Practice

(Answers, for Teacher Reference)

1. Look at the scrambled sentence below from Peter Pan in Kensington Gardens. Write it in the correct sequence:

	to show Peter
	He sneeringly pointed out
	he wasn’t really a bird at all.
	Peter’s nightgown, toes, and lack of feathers


He sneeringly pointed out Peter’s nightgown, toes, and lack of feathers to show 

Peter he wasn’t really a bird at all.

2. Write the sentence in your own words.

Answers will vary.

3. Complete the sentence frames to ensure subject-verb agreement.

Use the past tense verb to be (affirmative or negative).

	Last night, I was really tired..
	Yesterday, my friends weren’t really tired.


4. Circle the sentences that do not have correct subject-verb agreement.
	Peter was born a long time ago.
	
	He have never had a birthday.

	Peter realized he were thirsty
	
	So Peter was stuck on Bird’s Island.


5. Write the sentences circled above so that they have correct subject-verb agreement.

He has never had a birthday.

Peter realized he was thirsty.[image: image1.emf]
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